Divide by 107* (H)

59 ~ 1071

88 + 107!

92 +~ 107!

89 ~ 101!

97 +~ 107!

90 ~ 107!

14 = 1071

77 - 1071

59 =~ 1071

63+ 107"

Find each quotient.

92 - 107t =

25+107t=

28 +-10"1=

43 +1071' =

43 +107' =

20+ 107t =

61+10""'=

89 +107"' =

4+10"1=

82 +107'=
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Divide by 10~ (H) Answers

59 + 1071 =590

88 +~ 1071 =880

92 +~107=920

89 +~ 1071 =890

97 + 10" =970

90 +~ 10" =900

14 +107' =140

77 + 1071 =770

59 +1071=590

63+ 1071 =630

Find each quotient.

92 +10"*=920

25 +10"1=250

28 +107' =280

43 + 10" =430

43 + 10" =430

20 +-10"'=200

61+10"'=610

89 +~ 107 =890

4+10"1=40

82+ 1071 =820
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